Math 8
UNIT 3
Integer Operations
Name: ____________________

Teacher: _______________

Period: ________

Integers

Integers are ___________________________________________________

Integers can be represented on the number line like this:

[image: image1.wmf]x


[image: image74.emf]
       -10  -9  -8   -7  -6  -5  -4  -3  -2  -1   0   1   2    3   4   5    6   7   8    9   10


        ______________________       ______________________

__________________ integers are to the _______________ of zero.

__________________ integers are to the _______________ of zero.

_____________ is neither positive or negative.

Comparing Integers

On the number line, as the numbers go to the _____________, they get 

_______________ (___)

On the number line as the numbers go to the _______________, they get 

_______________ (___)

Example:
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       -10 -9 -8   -7  -6  -5  -4  -3  -2  -1   0    1   2   3    4   5   6    7   8   9   10

1 is ________________ than -2 because it is to the _______________ of -2.

-4 is _______________ than -2 because it is to the _______________ of -2.
Absolute Values
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The Absolute Value of a  number is its distance from zero.
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Showing Gains and Losses

You can use integers to show gains and losses.  _________________ 

integers show ______________, and_________________ integers show 

______________.  ____________ is used to show no change.


Verbal



Pictorial



Integer
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We lost 2 yards
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Show the following gains and losses

1.  We gained 4 yards.





2.  We lost 5 yards.
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3.  We gained 2 yards and then gained 6 more yards.
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4.  We gained 5 yards and then lost 8 yards.
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Representing Integers

Represent the statements with integers.

1.
Fifty-two feet below sea level.
2. 
The opposite of -123
3. 
A pay cut of $7,000.
4.
The stock market went up
879 points today.
5.
The football player had a 31 yard gain on the play.
6. 
18° below zero.
7. 
The opposite of -684
8. 
A loss of ten pounds.
9.
A raise of $12,200.
10.
18 units to the left on a number line.
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Name _______________________________________ Date _________________

Directions: Write the integer that best represents the situation described below.

1. A plant grew 9 cm. _______

2. The temperature dropped 6º ________

3. Susan got 10 points extra credit on the quiz. ________

4. The elevation of New Orleans is 8 feet below sea level. _______

5. Geologists explore a cave that was discovered under a local park. They descend about 200 feet. _______

6. An iceberg measures 200 feet below the surface of the water. ________

7. The skyscraper is 40 stories tall. ________

8. The temperature at 3:00 p.m. was 65º F. By 9:00 p.m., the temperature had decreased by 27 degrees. Which integer best represents the temperature change?

A. –38 B. –27 C. 27 D. 38

9. The table shows the amount of money Julia earned and spent in a four-day period.

Write the integer that best represents the amount of money Julia spent on Thursday. _________
[image: image21.emf]
10. Between noon and 10:00 pm, Tyrone recorded -18ºF as the change in temperature. Which best describes the change in temperature?

A. The temperature decreased 18ºF by 10:00 pm.

B. The temperature increased 18ºF by 10:00 pm.

C. The temperature was 18ºF at 10:00 pm.

D. The temperature was -18ºF at 10:00 pm.

11. Which situation is best represented by the integer –12?
A. The length of curtains is increased by 12 inches.

B. The price of a scooter is reduced by 12 dollars.

C. The size of a picture is enlarged by 12 percent.
D. The temperature rises by 12 degrees.
Adding and Subtracting Integers

Adding Integers:
Think of a gains and losses.  A positive number stands for gains; a negative number stands for losses.  Zero is used when there is no gain or loss. 

Examples:




2           +          -5     =       -3


-5           +          7     =       2




-5          +          -8     =       


        -2           +          34     =       




-23      +            6     =            


6           +          -13     =       


-14        +           11     =       


         -29           +          -15     =       





-2           +          -5     =         


-66       +          44     =       




-10      +          -4     =       


         -13           +          -22     =       



9           +          -1     =           


-27          +          6     =       





29           +          -4     =        


-12           +          -7     =       





-5           +          21     =         


-17           +          -5     =       0

For each problem write a verbal expression of the problem in the space provided.  Then, combine, eliminate zero pairs, and record your answer.

	
	Problem
	Verbal Expression
	Solution

	1.
	14 + 2
	
	

	2.
	9 + -2
	
	

	3.
	-65 + 27
	
	

	4.
	58 + -22
	
	

	5.
	23 + -9
	
	

	6.
	-24 + 5
	
	

	7.
	-33 + -12
	
	

	8.
	29 + -6
	
	


	
	Problem
	Verbal Expression
	Solution

	9
	4 + -17
	
	

	10.
	-21 + -3
	
	

	11.
	50+ -2
	
	

	12.
	41+-41
	
	

	13.
	-51+ -13
	
	

	14.
	-7 +  25
	
	

	15.
	7 + -10 + 2
	
	

	16.
	-6 + 1 + 3
	
	


Now, do these problems :

Example 1:  Simplify the following expressions.

a.  5 + 7 = ________           


b.  (-8) + (-9) = ________                  







c. (-3) + 4 = _________

   
d.  7 + (-11) = _________

Simplify: 

1.
7 + (-4) = __________


2.
-12 + -5 = __________

3.
40 + (-15) = __________


4.
(-8) + 8 = __________

5.
14 + 20 = __________


6.
13 + -28 = __________

7.
-14 + 18 = __________


8.
15 + -15 = __________

9.
(-17) + (-19) = __________


10.
6 + (-3) = __________

11.
15 + -20 = ______



12.
-1 + 500 = ______

13.
39 + 17 = ______



14.
421 + -576 = ______

15.
-201 + -439 + 752 = _____
                  16.
-17 + -2 + 3 + 16 = ____

Rules for Subtracting Integers.

Rules for Subtracting Integers.

Always change subtraction to _________ by  ________________________

The opposite of subtraction is ______________________

The opposite of a negative is a ______________________

The opposite of a positive is a ______________________

Then use the __________________________________________________

Example:  Change the following expressions into addition problems.

a.  9 – 23  = ________   


b.  (-11) – (-37) = ________

c.  (-52) – 27 = ________
 
        
d.  19 – (-57) = ________    

e.  -3 – 25  = ________   


f.   6 – (-7) = ________

g.  (-5) – 2 = ________
 
        
h.  -15 – 6 = ________    

 
i.  13 – - (12)  = ________   

j.  (-16) – (-14) = ________


k.  10 – ( -20) = ________
 
        
l.  9 – (-14) = ________    

Practice: Change the following into addition  problems and solve :
1.
30 – 12 = __________


2.
0 – 5 = __________

3.
0 – (-15) = __________


4.
4 – 9 = __________
5.
-9 – (-7) = __________


6.
25 – -15 = __________

7.
-4 – (-4) = __________


8.
-6 – 0 = __________

9.
-8 – 8 = __________



10.
-12 – (-13) =__________

Name_____________________________________ Date_____________________

Solve each problem.    Check your work!
Let’s review adding and subtracting integers….

Remember a ( -) sign means a ______________________.

Try these addition problems, use colored counters if necessary…..

1.  4 + (-7) = 




2.  10 + (-5) =

3.  -9 + (-3) = 


            
4.  -8 – (+3) =

5.  2 + (-12) = 



          6.  13 – (-6) =

For Subtracting I change the problem to an ____________________ problem by _____________  ________________ _______________

1. -6 – (-2) =




 2. 2 - 5 =

3. 4 - (-3) = 





 4. -6 – (-4) =

5. 6 – (-4) = 




           6. -8 – 5 =

Addition and Subtraction of Integers Homework

Simplify:

1.
30 + 12 =  __________


2.
7 – 12 = __________

3.
-15 + 4 = __________



4.
16 – 9 = __________

5.
-11 – (-5) = __________


6.
-10 + (-4) = __________

7.
6- (-13) = __________


8.
5 – 15 = __________

9.
-2 + 5 = __________



10.
-8 – 9 = __________

11.
10 + 12 = __________


12.
10 + -2 = __________

13.
-4 + -8 =  __________


14.
9 – (-5) = __________

15.
4 – 8 = __________



16.
13 – 7 = __________

17.
-8 + -1 = __________



18.
12 – (-11) = __________

19.
5 + -3 = __________



20.
-10 – 4 = __________

Name_____________________________________ Date_____________________

Solve each problem.  Work with a partner.  Check your work!

1)   –5 + (-8) = 


13)     2 - (-7) = 

2)     8+ (-3) =    


14)    -4  - 13 =

3)     -2 + 34 =       

15)    - 4 - (34)= 

4)     -23 + 6 = 


16)     9 - -21 = 

5)     6 + (-13) = 


17)     7 -(-13) = 

6)    -5 + (-12) = 

18)   -5  - (-43) = 

7)     45 + 56 = 


19)    61- (-61) = 

8)   -65 + -11 = 


20)   -56 - (-21) = 

9)    -78 + 16 = 


21)     83 - (-4) =

22) At 3 pm, the temperature in Baltimore was 83 degrees.  At midnight, the temperature dropped 21 degrees.  What was the temperature at midnight? 

23) Bob got on an elevator on the 5th floor.  He traveled 2 floors up, and 4 floors down before he reached his destination.  At which floor did Bob get off the elevator?  3rd floor
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Multiplying and Dividing Integers

(The Simple Rule)

The following are all multiplication symbols: _______________________

The following are all division symbols: ____________________________

  Use your calculator to determine the products for each problem.  When you see a pattern, stop using your calculator and try it on your own.  

	10(12) = _____
	15 x 4 = _____
	6(20) = ______
	25 x 14 = ____


	-6 x 5 = _____
	-8(7) = ______
	-12 x 12 = ____
	-11(7) = ______

	24(-2) = ______
	15 x (-5) = ____
	9 x -7 = _____
	2(-4) = ______

	-13 x -12 = ___
	-4(-8) = ______
	(-8)(-8) = _____
	-22 x (-11) = ___


 How do you think the calculator arrived at the answer?  Write a rule or rules that you think explains how to solve these problems.

__________________________________________________________________________________________________________
  Use your calculator to determine the quotient for each problem.  When you see a pattern, stop using your calculator and try it on your own.  

	81 
[image: image25.wmf]¸

 3 = _____
	64 
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 4 = _____
	80 
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 5 = _____
	36 
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 12 = ____

	(-24) 
[image: image29.wmf]¸

8 = ___
	-144 
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 6 = ___
	(-256) 
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 16 = _
	- 440 
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22 = __

	100/ (-4) = ____
	27/ (-3) = ____
	56/ (-7) = ____
	51/ (-3) = ____

	(-56)/ (-4) = ___
	-60/ (-12) = ___
	-14/ (-14) = ___
	-27/ (-3) = ____


How do you think the calculator arrived at the answer?  Write a rule or rules that you think explains how to solve these problems. 

__________________________________________________________________________________________________________

[image: image33.emf]
Test your rule(s) on the following problems without using a calculator.
	-6 x -8 = _____
	-7(17) = ______
	4 x (-12) = ____
	3 x 24 = _____

	(-9)(-17) = ____
	-40(20) = _____
	5 x (-117) = ___
	8 x 35 = _____

	-32 
[image: image34.wmf]¸

4 = ____
	35 
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 (-7) = ___
	-45/ (-3) = ____
	-280/14 = ____

	-48 
[image: image36.wmf]¸

 23 = ___
	76
[image: image37.wmf]¸

 (-33) = ___
	-48/ (-6) = ____
	110/ 10 = ____


Multiplying and Dividing Integers

Review the Rules:

a. What is the product of a negative number and a negative number?

b. What is the product of a positive number and a negative number?

c. What is the product of a positive number and a positive number?

Complete the table below with the correct sign and solution:

	Equation:
	Sign of the Answer:
	Solution:

	-14 x 2
	
	

	-18 ÷ (-4)
	
	

	(-12) x (-10)
	
	

	34 ÷ (-2)
	
	

	(-45) ÷ (-5)
	
	

	(-8) x (-2) x (-4) 
	
	


Simplify each expression

5 ∙ (-4) =



(-5) ∙ (-5) =



(-3) ∙ 8=

15 ÷ (-3)=



27 ÷ (-9)=



50 ÷ (-5) =

(-12)÷ (-4) = 



(-1)∙ (-9) =



(-30) ÷ 3 =

Read each question carefully and solve. Show all of your work:

The temperature decreased at a constant rate from 0°F to -35°F in 5 hours. By how many degrees did the temperature decrease per hour?

A submarine descended (went down) 3 feet per minute.  If the surface of the water is 0, which integer describes the position of the submarine after 8 minutes?

a. After 10 minutes?

b. How much further did the submarine descend between minute 8 and minute 10?

c. How far below the surface will the submarine be after 24 minutes?

d. If the ocean is 20,000 feet deep, how long will it take the submarine to descend from the surface to the ocean floor?
Independent Practice: Multiplying & Dividing Integers

1.)    [image: image39.png]


 = _______    
2.)   
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52

13

_____________
3.)  18 ÷ (–9) = ____________
4.)     (–2)(–13) = _________

5.)     –36 • 2 = _________
            6.)   15 ( (–3) = _________  

7.)     –7(50) 
= _________

8.)   [image: image42.png]


  = __________

9.)   –51 ( –3 = ________


10.)   Describe and correct the error in multiplying 


–5 and –12, then dividing by –4. 


Error: _____________________________________________


__________________________________________


Now, solve the problem correctly:

Simplify.  Double check that your answer has the correct sign! 
11.)    –5(–10)(–25)





12.)   16(–4)(–8)




13.)   360 ( (–36) ( (–2)




14.)   –72 ( 12 ( 3

Multiplying and Dividing Integers Homework

Multiply:

1.
-8(3) = ________

2.
(-5) * (-4) = ________
3.
4 · -9 = ________

4.
-24 * 2 = _________

5.
2 · -5 =________

6.
10(-12) = _______

Divide:

7.
18/(-3) = ________

8.
-48 ÷ 2 = ________

9.
  -15   = ________












     3

10.
72 ÷ 8 = ________

11.
  -42   = ________

12.
-54/(-6) = _______







   -7



Multiply or Divide:

13.
9 * (-3) = ________

14.
-56/(-8) = ________

15.
96 ÷ (-12) = _____
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Name ____________________________________          Period ________

Solving Integer Problems

You will be solving these problems involving positive and negative numbers.  Before you solve, write a math expression.

Example: At noon the temperature was 12° Fahrenheit.  By 6 pm the temperature had fallen 20 degrees.  What was the temperature at 6 pm?  

Math expression:  ____________________________________________________________

______________________________________________________________________________

Answer: ___________________________________

1. The high temperature on January 5 in Chicago was 25° F.  That night the temperature went down to  – 9° F.  What was the change in the temperature?

Math expression:  ____________________________________________________________

______________________________________________________________________________

Answer: ___________________________________

2. Marion is an experienced diver.  During a dive she descended from the surface at a rate of 4 meters per minute.  What was her location at the end of 10 minutes?

Math expression:  ____________________________________________________________

______________________________________________________________________________

Answer: ___________________________________

3. During the night the temperature dropped 6° F every hour.  At midnight the temperature was 0° F.  What was the temperature at 4 a.m.?

Math expression:  ____________________________________________________________

Answer: ___________________________________

4. A submarine was cruising at -60 feet, with 0 feet at sea level.  If it submerged an additional 60 feet, at what level would it then be cruising?

Math expression:  ____________________________________________________________

Answer: ___________________________________

5. Sylvia had $154 in her savings account on January 20.  On January 25, she deposited $24.  She withdrew $89 on January 30.    Does she have enough money in her account to withdraw $110 on February 3?  Explain your answer. (You do not need to use a number line for this problem.)
Math expression:  ____________________________________________________________

Answer: ___________________________________

6. The temperature outside was -18° F at midnight.  During the next two hours the temperature rose 22°.  What was the temperature at 2 a.m.?

Math expression:  ____________________________________________________________

______________________________________________________________________________

Answer: ___________________________________

7. Sally was diving at a depth of 25 feet below sea level.  Then she descended another 35 feet.  How many feet did she descend in all?

Math expression:  ____________________________________________________________

Answer: ___________________________________

8. The highest recorded temperature for March 1 in Centerville was 65° F.  The lowest recorded temperature was -12° F.  What is the difference between the two temperatures?

Math expression:  ____________________________________________________________

______________________________________________________________________________

Answer: ___________________________________

9. A submarine was at 140 feet below sea level and then descended another 280 feet.  It then rose 80 feet.  At what depth is the submarine now?

Math expression:  ____________________________________________________________

______________________________________________________________________________

Answer: ___________________________________

10. Suppose the temperature outside is dropping 3 degrees each hour. How much will the temperature change in 8 hours?

Math expression:  ____________________________________________________________

______________________________________________________________________________

Answer: ___________________________________

Integer Word Problems

1. In a football game, Tony gains seven yards on each of three consecutive plays. He then loses three yards on each of the next two plays. What is the result of the 5 plays?

2. Mac loses 65 cents every day for five days. How much money did he lose altogether?

3. The temperature in Tahiti is 27 degrees C. The temperature in Siberia is -33 degrees c. What is the difference in these temperatures?

4. A bank balance was $357. A check was written for $486. What is the new balance?

5. The altitude of a scuba diver is -31 feet. He descends 12 feet. What is the scuba divers new altitude?

6. The temperature at 8:00 am was -15 degrees C. The temperature rose 8 degrees an hour for the nest two hours. What is the new temperature at 10:00 am?

7. A submarine 220 feet below sea level fires a rocket which rises 800 feet. How far above sea level does the rocket go?

8. Mrs. White owes $24 to a department store. How much must she pay to acquire a credit of $40 with the store?

9. Mr. Corkery had a bank balance of $21 on Wednesday. On Thursday he wrote a check for $114. What is the balance of Me. Corkery’s account at the end of the day on Thursday?

10. The temperature in Houston was 97 degrees C. at 4:00 in the afternoon.  As evening approaches, the temperature drops 4 degrees an hour. What is the temperature at 7:00 in the evening?

11.
When George woke up the temperature was 15 º F. At noon, the temperature had dropped to -8 ºF. What  

            was the temperature difference between when Greg woke up and at noon?

A. 7 º


B. 15 º


C. 8 º


D. 23 º

12.
The highest mountain in North America is Mt. McKinley, at 20,320 ft. The lowest

point in North America is Death Valley, in California, at  -282 ft. What is the difference in elevation?
A. 20,138 ft

B. 20,502 ft

C.  20,602 ft

D. Not Here

13. 
The average monthly temperatures in Fairbanks, Alaska, from November to

March are -3°F, -7°F, -10°F, -4°F, and 11°F. Which of the following shows these

temperatures in order from coldest to warmest?

A. -3, -4, -7, -10, 11

B. -10, -7, -4, -3, 11

C. 11, -10, -7, -4, -3

D. 11, -3, -7, -4, -7, -10

14.
The temperature at 10:00 AM was -4°F. By 2:00 PM, the temperature had risen 10°F. What was the temperature at 2:00 PM?

A. -14°F

B. -6°F


C. 6°F

D. 14°F

15.  
A certain stock lost a total value of $36 over a 4-day period. Which integer best represents the average change in the stock value each day?

A) $-36

B. $-12
 
C. $-9

D. $-6

16.   
The temperature at the South Pole one afternoon is -21°C. The temperature then falls 3 degrees per hour for four hours. What is the temperature after 4 hours?

A) -21 – 4(3) = -33°C

C. -21 – 4(3) = -9°C

B. -21 + 4(3) = -9°C

D.21 + 4(3) = 33°C
17.   
During a power outage, the temperature in a restaurant freezer rose from -11ºC to 4ºC. How much warmer was the high temperature than the low temperature?


A. 15 º


B. -7 º


C. 7 º

        
D. -20º

18. 
Which temperature is between 8 º F and -12 º F?

A. -9 ºF

B. 10 ºF


C. 12 ºF
        
D. -14ºF

19. 
As a cold front passed through an area, the temperature changed by an average of       -4º F per hour for 5 hours. If the temperature started at 10 ºF, what was the new temperature at the end of the five hours?

 
A. -20 ºF


B. -10º
F

C. 1 ºF

        
D. 15ºF

20.  Which set of integers below is ordered correctly from greatest to least?

 
A.   -1,-5,0 ,3

B.  0, 3 ,-5,-1

C.  3, 0 ,-1,-5
            D.   -5,-1,3, 0

[image: image48.emf]
ACTIVITIES
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Problems for Integer WAR/FEAR FACTOR

Addition and Subtraction of Integers Practice I

Simplify:

1.
-7 + 2 = __________



2.
-6 – 4 = __________

3.
5 + 7 = __________



4.
16 – 9 = __________

5.
-14 + -15 = __________


6.
-47 – 21 = __________

7.
-35 + -26 = __________


8.
24 – 57 = __________

9.
23 + 12 = __________


10.
-63 + 51 = __________

11.
15 – (-16) = __________


12
-9 + 6 = __________

13.
518 – 63 = __________


14.
18 + -4 = __________

15.
14 – -8 = __________



16.
-8 + 4 = __________

17.
-42 – (-27) = __________


18.
19 + (-7) = __________

19.
-64 – (-91) = __________


20.
25 – 42 = __________

Problems for Integer WAR/FEAR FACTOR
Addition and Subtraction of Integers Practice II
Simplify:

1.
4 + (-2) = __________


2.
5 – -1 = __________

3.
10 – 0 = __________



4.
-4 + (-5) =  __________

5.
8 + -5 = __________



6.
-1 – (-3) = __________

7.
3  + -9 = __________



8.
12 – 5 = __________


9.
6 – (-3) = __________


10.
-5 + 7 =  __________

11.
-1 + (-5) = __________


12.
5 – 7 = __________





13.
-6 – (-2) = __________


14.
10 – (-10) = __________

15.
-4 + 0 = __________



16.
3 + 3 = __________

17.
2 – (-4) = __________


18.
-11 – 3 = __________

19.
5 + -5 = __________



20.
0 + (-9) = __________

______________________________                                              _____________________________________

______________________________
                                              _____________________________________

Integer Review: Smooth Operators

	Objective
	Question #s
	Points Earned
	Total Possible Points
	Mastery Percentage

	Absolute Value


	1a, 1b, 2a, 2b, 2c 
	
	5
	

	Adding Integers


	3, 4, 5, 6, 7
	
	5
	

	Subtracting Integers


	8, 9, 10, 11, 12
	
	5
	

	Multiplying/Dividing Integers
	13, 14, 15, 16, 17
	
	5
	

	Order of Operations


	18, 19, 20, 21, 22
	
	5
	

	Bonus
	23
	
	2
	

	Total
	
	
	25
	



1. Part A. 
What is the absolute value of -6?  (1 point)

__________

Part B.  Justify your answer using a complete sentence. (1 point)

_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. Complete the following statements using <, >, or =. (1 point each)

A. 
[image: image50.wmf]10
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 _____ 
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B. B.     
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 _____ 
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Use the number line below to justify your answer to part B.



3. (-14) + (-11) = 





4.
19 + (-7) = 

5. 25 + (-18) + (-7) = 

6. The Big Bad Wolf started the day yesterday with -$40 in his bank account. After he receives his paycheck for $52, what will his bank statement say?

7. It’s -4 degrees on a cold winter day in New York City. By morning, the temperature is predicted to increase 11 degrees. What will the temperature be if the prediction comes true? Show your work on the number line below, making sure to label both points.



8. 9 – 33 =







9. 17 – (-8) = 

10. -23 – 14 = 

11. Aladdin had $27 in his bank account yesterday, but this morning he bought a ruby necklace for Jazmin that cost $45. What does his bank statement say now?

12. The average winter temperature in Helena, Montana is -13 degrees Fahrenheit. The average winter temperature in Boston, Massachusetts is 19 degrees Fahrenheit. What is the difference between the two average winter temperatures?


13. [image: image55.png]








14.
[image: image57.png]



15. Always, Sometimes, or Never?  The product of two negative and two positive numbers will be negative. Explain your answer.

16. Khuvon withdraws $103 every month to make car payments.  Khuvon pays the same amount for 7 months.  What is the total amount of money that Khuvon will owe?  Express your answer as an integer.

17. The temperature dropped 5 degrees each hour for 7 hours.  Use an integer expression to represent the total change in temperature.

[image: image58.emf]
Operations With Integers Practice

Simplify:

1.
-2 + -6 = __________


2.
-8 · 3 = __________

3.
-12 – (-8) = __________

4.
-18/(-3) = _________

5.
(-6 ) (-11) = __________

6.
8 + -19 = __________

7.
9 – 6 = __________


8.
-45 ÷ 5 = __________

9.
15 * 5 = __________


10.
-27 + -16 = ________

11.
-17 – 12 = __________

12.
-72 = __________









 -8

13.
3(-4) = __________


14.
8 – 22 = __________

15.
43 + -18 = __________

16.
-9/1 = __________

17.
-8(10) = __________


18.
-10 – (-4) = ________

19.
-5 + 3 = __________


20.
48 = __________
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Operations With Integers Homework

Simplify:

1.
2 + -6 = __________



2.
-6 · 7 = __________

3.
-5 – (-9) = __________


4.
-24/(-4) = __________

5.
(-9 ) (10) = __________


6.
-9 + -16 = __________

7.
5 – 16 = __________



8.
50 ÷ -2 = __________

9.
-12 * -5 = __________


10.
-17 + -6 = __________

11.
-12 – 5 = __________



12.
-60 = __________









 -4

13.
5(-8) = __________



14.
8 – 22 = __________

15.
21 + -15 = __________


16.
-8/1 = __________

17.
-7(11) = __________



18.
-14 – (-9) = __________

19.
-9 + 7 = __________



20.
80 = __________
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	NUMBER
	PROBLEM
	ANSWER 1
	ANSWER 2

	1
	-72 
[image: image60.wmf]¸

  9
	8

RED
	-8

PINK



	2
	-255 
[image: image61.wmf]¸

  -15
	17

BROWN


	15

YELLOW

	3
	-24 
[image: image62.wmf]¸

  4


	-6

LIGHT BLUE


	-8

GREEN

	4
	-132 
[image: image63.wmf]¸

 -11
	12

GREY


	-12

DARK BLUE

	5
	-23 
[image: image64.wmf]´

 -2
	25

PURPLE
	46

YELLOW

	6
	-6 
[image: image65.wmf]´

 -7
	42

BLACK


	-42

TAN

	7
	-17 
[image: image66.wmf]´

 3
	51

PEACH
	-51

ORANGE



	8
	-15 
[image: image67.wmf]´

 5
	75

LIGHT PINK
	-75

GREEN



	9
	[image: image68.emf]
	8

WHITE
	-12

RED

	10
	[image: image69.emf]
	-5

DARK BLUE
	7

LIGHT GREEN

	11
	[image: image70.emf]
	11

GREY
	-24

PEACH

	12
	[image: image71.emf]
	2

PURPLE
	4

BROWN
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Integer Invitational

Objective:  Students will practice operations with integers

Procedure:  Each pair of players needs a score card, a pencil, and one pair of dice of different colors.  Players should agree among themselves to designate one colored die as positive and the other as negative.  Each player rolls the positive die and the player with the highest number begins golfing.  The first golfer rolls both dice at the same time until the rule stated for Hole 1 is met.  The number of times the dice are rolled to meet the rule is the player’s score for Hole 1.

The other player repeats the procedure to determine his/her score for Hole 1.  Play continues until all 9 holes are completed.  The scores are added and the player with the lowest total is the winner.

	Hole
	Name:
	Name:
	Course Rules

	
	Score:
	Score:
	

	1
	
	
	The sum is positive.

	2
	
	
	The sum is -2.

	3
	
	
	The product is greater than -12.

	4
	
	
	The sum is divisible by 2.

	5
	
	
	The sum is 3.

	6
	
	
	The product is divisible by 3.

	7
	
	
	The sum is negative.

	8
	
	
	The product is less than -18.

	9
	
	
	The sum is zero.

	
	Total:
	Total:
	


[image: image73.emf]
Name: _____________



Period: ____
INTEGERS IN BANKING

	Sally’s starting balance
	$150

	- wrote a check for $25 at Target
	

	- spent $10 at subway for lunch
	

	- received $ 50 from grandma for birthday
	

	- received $30 for babysitting
	

	- spent $200 on cell phone bill
	

	- spent $20 downloading I-tunes
	

	- received allowance of $35
	

	-received $15 for good progress report
	

	- bought cheerleading uniform for $45.
	

	
	

	Ending Balance
	


     Integer Alphabet Card

	
	A

-13
	B

-12
	C

-11
	D

-10
	

	E

-9
	F

-8
	G

-7
	H

-6
	I

-5
	J

-4

	K

-3
	L

-2
	M

-1
	N

+1
	O

+2
	P

+3

	Q

+4
	R

+5
	S

+6
	T

+7
	U

+8
	V

+9

	
	W

+10
	X

+11
	Y

+12
	Z

+13
	


    Integer Alphabet Card

	
	A

-13
	B

-12
	C

-11
	D

-10
	

	E

-9
	F

-8
	G

-7
	H

-6
	I

-5
	J

-4

	K

-3
	L

-2
	M

-1
	N

+1
	O

+2
	P

+3

	Q

+4
	R

+5
	S

+6
	T

+7
	U

+8
	V

+9

	
	W

+10
	X

+11
	Y

+12
	Z

+13
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Obj #4 Multiplying and Dividing Integers (5 points)








The enrollment at Davis Middle School dropped by 60 students over a 5-year period. What is the average yearly drop in enrollment?





During a 5-day workweek, the stock market decreased by 65 points. Find the average daily change in the market for the week.





Mrs. Rockwell lost money on an investment at a rate of $4 per day.


Describe the change in her investment after two weeks.





A computer stock lost 2 points each hour for 6 hours. Describe the


total change in the stock after 6 hours.





5)





6)





4)

















Obj #3 Subtracting Integers (5 points)








Obj #2 Adding Integers (5 points)








Obj #1 Absolute Value (5 points)








Name: _______________________


Date: ________________________











For each expression, write a problem to model the situation and solve





For each expression, write a problem to model the situation and solve








Multiplication Rules				Division Rules			


	(+) · (+) = _____	(+) ÷ (+) = _____


					


(-) · (-) = _____	(-) ÷ (-) = _____





(+) · (-) = _____	(+) ÷ (-) = _____


					


(-) · (+) = _____	(-) ÷ (+) = _____








Multiply:





1.	-6(5) = ________		2.	(-3) * (-9) = ________	








3.	-8 * 9 = _________		4.	4 · -7 =________		











Divide:








5.	20/(-5) = ________		6.	-72 ÷ 12 = ________		


							     





7.	100 ÷ 20 = ________		8.	  -56   = ________		


							   -8		











Multiply or Divide:








9.	6 * (-9) = ________		10.	-15/(-3) = ________		








11.	-20(-6) = ________		12.	-40 · 4 =________		


										





13.	-12 · (12) = ________		14.	-36/9 = ________
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8)





7)











�


�





�


�

















�
























































































































































































































































































































































PAGE  
39

_1247211424.unknown

_1408158458.unknown

_1408158622.unknown

_1408160631.unknown

_1408161131.unknown

_1408161152.unknown

_1408160663.unknown

_1408159253.unknown

_1408158508.unknown

_1408158620.unknown

_1247211543.unknown

_1247468704.unknown

_1247211511.unknown

_1247211051.unknown

_1247211339.unknown

_1247211372.unknown

_1247211076.unknown

_1247210967.unknown

_1247211030.unknown

_1217738541.unknown

_1247210953.unknown

_1217738524.unknown

